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Essential Question: What is the relationship between the exterior and interior angles of a triangle?
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What is the value of x?
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The measure of an exterior angle of a
triangle equals the sum of the measures
of its two remote interior angles.
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Step 1 Write an equation to find the value of x.

m4£3 =m4Ll+ m4L2
(5x—8)°=26°+(3x-2)°
5x-8=3x+24
2x=32
x=16
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Step 2 Substitute the value of x into the expression for m£3.
m«£3 =(5x-8)°
=[5(16) - 8°
=(80-28)
=72°

So m£3is 72°.
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Given m£1 = (5x - 18)° and
mZ£2 = (3x - 40)°, what is m£1?
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Sample: The measure of an exterior angle of a triangle is equal

to the sum of the measures of its fwo remote interior angles.
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Z1 and 45
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Exterior angle of a triangle

An exterior angle of a triangle is an angle formed by a side and an extension of an adjacent side.

Example
21 is an exterior angle of /AABC.
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Remote interior angles

Remote interior angles are the two nonadjacent interior angles corresponding to each exterior angle of a triangle.

Example
21 and 22 are remote interior angles of 23.
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An exterior angle of a triangle is an angle formed by a side and
an extension of an adjacent side.
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For each exterior angle of a triangle, the two nonadjacent interior \
angles are its remote interior angles.
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Which are the two remote interior

angles of £6?
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The measure of an exterior angle of a triangle equals the
sum of the measures of its two remote interior angles.

mZ1+ m£2 + m£3 = 180° because the sum of the
measures of the interior angles of a triangle equals 180°.

M43+ m24 = 180° because £3 and £4 form a straight
angle.

mZ1+ m£2+ m4£3 = m£3 + m£A4, by substitution.

mZ1 +m2£2 = mZ4, by subtraction.
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The measure of an exterior angle of a triangle equals the sum of the
measures of its two remote interior angles.

For each triangle, write an equation that sets the measure of the
exterior angle equal to the sum of the measures of its two remote
interior angles. Then solve for the missing angle measure.

mZ1 =34°+90°
=124°




